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N & o & AF & H Al A
2020 & =0l & LEHSIH BASSHH
SM: BAstEME
Iu: BUDS K8
& Bdsts X (&)
= - — L=
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
gMstsHH 9,030,575 7,112,418 1,918,157
s 895,000
< 292,100
Al 7,843,475
2MNs X 8,910,675 6,974,945 1,935,730
s 895,000
< 292,100
Al 7,723,575
gMsts X 298,520 272,920 25,600
HMstsdH 29 99,720 93,720 6,000
201 2ok 2 Y| 87,720 81,720 6,000
01 At 22l 51,720 51,720 0
O gBt+=&H| 34,400,000 34,400
OTMetsdH 520, 2238 9|
5,000,000& 5,000
OBMNEREAZ =Y 80,000 x8H %33 1,920
O= &l 3,000,000 3,000
ogxtz 7,400,000& 7,400
02 =224l 36,000 30,000 6,000
oz&E2= % HA 3,000,000& x12& 36,000
202 04l 10,000 10,000 0
01 = LH Yl 10,000 10,000 0
O=A=Z I 10,000
o APEOIILHID ¥ XFEZ2IH 29
3,000,000 3,000
cuEAF g2 = 3,000,000& 3,000
oSN WEEEIE X TH2 SR
24 2,000,000& 2,000
oc=EXZ E208 299 2,000,000& 2,000
203 YR =&l 2,000 2,000 0
03 AIHF=XH R =AH| 2,000 2,000 0
OBMEIEST A g2F2 2,000,000& 2,000
ZMDNST2Y XY 174,600 155,000 19,600
201 L2l 48,000 47,000 1,000
01 At 2t 2l 17,000 17,000 0
OogBt+=&H| 5,000,000& 5,000
O%&Ed Zz)Y =22 ME 2,000,000& 2,000
OAMHEOIIIOIOI 2Y 28 ¢
300,000& =103l 3,000
OAE OO0 E22 M 7,000,000 7,000
03 &AL Z I 31,000 30,000 1,000
OAt&E OO0l 29 2,400,000& =103l 24,000
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EA: BMSSHEH
M BMUS K@
Sl A X (29 & 9)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@i HRE2
OEROII4O =9 3,500,000 x23| 7,000
301 dEtE M= 101,600 100,000 1,600
09 #HAIAHI XIS 2 2,000 2,000 0
OWMEE BHN AT M UK
1,000,000 1,000
OBMESS AKX BASS HIb AYIX
1,000,000& 1,000
12 JIEtE A= 99,600 98,000 1,600
OUSY Tz ) 2AAIE 86,400,000 86,400
O&en MINESY BMISAL 22 X
2,000,000& 2,000
oEMsts S0olel 4 N 11,200,000 11,200
307 gizto| & 5,000 5,000 0]
02 QIZ2IA AAIE E X 5,000 5,000 0
OMdoIE2d WX 5,000,000& 5,000
401 Al HI L 2 0HHI 20,000 0 20,000
01 Al & H| 20,000 0 20,000
oZz)dA USM &AX 20,000,000 20,000
Ol =SS HEH 29 24,200 24,200 0
201 Bt 1,800 1,800 0
01 AP 22| H| 1,800 1,800 0
OgYbt424| 1,800,000 1,800
301 et A =2 22,400 22,400 0
12 JIEtE A= 22,400 22,400 0
oB=StEHME VAR
40,0003 *2 Al 2tx 142 % 163] 17,920
Ost&sLIN &S| 4,480,000 4,480
n=MHE N 5,422,800 5,067,400 355,400
= 215,100
Al 5,207,700
SIS =& 2,613,800 2,618,800 A5,000
201 et | 7,800 7,800 0
01 AP 22| H| 7,800 7,800 0
Ot 2Y| 3,000,000& 3,000
OuNEHUINYAIS =& 4,800,000& 4,800
203 € R =& 1,000 1,000 0
03 AIEH =X H 2 F X Y| 1,000 1,000 0
OCMMEYd YRFA 1,000,000 1,000
301 et M= 350,000 0 350,000
01 AMfSIEXEE 4562 350,000 0 350,000




SM: BAstEME
Hu: BMDS X2
?? WEMHE X CEE-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OANBRIE S22 FE4FH X
350,000, 000& 350,000
306 £ 2 800,000 800,000 0
01 &3 800,000 800,000 0
OMEA ATHSSFSME 513
800,000,000& 800,000
307 gl2tol & 300,000 0 300,000
02 IZtEHAIHE L 300,000 0 300,000
od=w=si+ 249 XA 300,000, 000& 300,000
308 XXM SO A 1,155,000 1,810,000 A 655,000
08 WEII20HStE X 1,155,000 1,810,000 A 655,000
OY=EU =& ALt X
105,000, 000& 105,000
OJNHBWAN 2Z K& 270,000,000 270,000
ONEE dUHMERA(=S) 2% N
140,000, 000& 140,000
Oxs &= 28 X 70,000,000& 70,000
OF - 1w YHx: stw XA 60,000,000& 60,000
O= = S2Z NI (2A2AH 1) 50,000,000 50,000
OSX& i - w3d XA 40,000,000& 40,000
ogsusdMua X 50,000,000& 50,000
OANMETHNSH BE 24 X
40,000,000& 40,000
Oxs - MZLHG E HDEFSTWBUII
20,000,000& 20,000
ONREIH 29 XA 35,000, 000& 35,000
oZ=ds Mg XN& 30,000,000& 30,000
OStm SMZ2IH U SBAILAY
170,000, 000& 170,000
OMEZBEIM AL 55,000, 000& 55,000
ostuE M2 EA71Y XA 20,000,000& 20,000
N HA 465,000 465,000 0
308 XtXIEHH SOl A 465,000 465,000 0
08 WFJ20UstE=x 465,000 465,000 0
Og=z1n 54 ¥ Sdztn 248 NE
450,000,000& 450,000
osstig 249 A& 15,000, 000& 15,000
QIS ItAI 50,000 120,000 A70,000
301 gEEd = 50,000 120,000 A70,000
02 ¥et=stit= 50,000 120,000 A70,000
OUREIIAIM DEatM o2 XD
50,000, 000& 50,000
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A& SEM OO 29 27,000 35,000 A 8,000
201 gBt24d| 23,000 23,000 0
01 AP 22| H| 5,000 5,000 0
OgLbt4=24| 2,000,000& 2,000
OMEZ=z ) XY AdXs 3,000,000& 3,000
03 HAI2 G HI 18,000 18,000 0
ONMEZZ e 29Y| 18,000,000 18,000
301 et A =2 4,000 12,000 A 8,000
12 JIEtE2 A= 4,000 4,000 0
OAIESAOIILE 0] 2 A2 4,000,000 4,000
MOUTIH UHEE WSAIALY 100,000 100,000 0
307 QI2t0| ™ 100,000 100,000 0
11T A EXAIEEX 100,000 100,000 0
oXz & Xk sgxz)d 89 S
100,000,000 100,000
MBI XIE HFSHAFY 225,000 228,600 A 3,600
& 112,500
Al 112,500
301 et A =2 225,000 228,600 A 3,600
& 112,500
Al 112,500
01 Al B & A 462 225,000 228,600 A 3,600
OW2ss WE=EAIIE 225,000,000 225,000
= 112,500
Al 112,500
SstM el XH 342,000 0 342,000
o= 102,600
Al 239,400
301 et M= 342,000 0 342,000
= 102,600
Al 239,400
01 A& A 252 342,000 0 342,000
OFstM =Y XA 342,000,000& 342,000
& 102,600
Al 239,400
MAMENESH JsA £ UOSEHEHA HE I 1,500,000 1,500,000 0
308 XHXIEHSOIA 1,500,000 1,500,000 0
08 W=EJl&otistE = 1,500,000 1,500,000 0
OJIsA & O 244 HE &
1,500,000,000& 1,500,000
2gdsst Ol 55 N 100,000 0 100,000
308 XAHXIEH SO A 100,000 0 100,000




AN BYstsdH
MY DS K@
?? WEMHE X (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
08 WSIIZ20HetE = 100,000 0 100,000
O8dss Nicdussd 55 N
100,000, 000& 100,000
A2 E 2l 2,976,495 1,400, 161 1,576,334
s 895,000
< 77,000
Al 2,004,495
SHH2YH ussHII2 24 74,000 665,066 A 591,066
201 £B-2dH| 6,000 16,000 A 10,000
01 At 22/l 6,000 10,000 A 4,000
O 2 Et==EH| 6,000
oS MoHN HSIE BN 242
2,000,000& 2,000
ostMSHy NSRS HANSY B2
NIIES 4,000,000& 4,000
301 LPEXSZ 63,000 72,000 A 9,000
12 JIEBHE4 3 63,000 72,000 A 9,000
OSIHZHM NEEHI SSHE 2F ZA
= 63,000,000& 63,000
405 XHoHF S HI 5,000 15,000 A 10,000
02 TN 5,000 5,000 0
OstH=dM 83&EMH & 7 5,000,000& 5,000
HelolEdat 293 230,200 277,400 A4T7,200
101 14l 80,000 50,000 30,000
4 D12t ZE2XREES 80,000 50,000 30,000
OMANIIZHZZ2X 2= 58,600
cJIEg= 17,500, 000& »2H 35,000
oFig 3,600,000& »2H 7,200
oIt 1,050, 000& »2H 2,100
o Al2Hel =& 650,000 x2H 1,300
c4HEEZLEIRSZ 6,500,000 »2H 13,000
OLAZIZNMIZ 2R E= 21,400
=lleg 12,200,000& »1H 12,200
oFX+g 2,500,000& »1H 2,500
cHXtsg 800,000& x1H 800
o Al 22l =& 400,000& x1H 400
c4HEEZLEIANS 5,500,000& »1H 5,500
201 Let24dH] 61,400 53,400 8,000
01 At 22/l 20,400 9,400 11,000
©F=R<Iget=:]l 5,000,000& 5,000
OZNE2ES 7Y 2,200& *2,5000H 5,500




AN BYstsdH
HH: YYD K
Helr STA2E 2el (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
o=eleolxg 700,000& 700
oOAMEZ % HEZ 7,200,000& 7,200
oOsE= HH 2,000,000& 2,000
02 2524l 39,000 43,000 A 4,000
o0z22= 12,900, 000& 12,900
OFNLERS 700,000& 700
OZHOIX RANE>= &4 3,000,000 3,000
O&LEH RRAE> EEA 20,000,000& 20,000
O A& &8s Xl 2,400,000 2,400
03 A2 S HI 2,000 1,000 1,000
O M2 A 29 2,000,000& 2,000
301 LEEAZ 52,400 60,000 AT,600
12 J|IEtE4 3 52,400 60,000 AT,600
OZME 52,400,000& 52,400
405 TtabF S| 36,400 75,000 A 38,600
01 AL EFH S 6,400 25,000 218,600
OAMIt S 7Y 6,400,000 6,400
02 =M=l 30,000 50,000 A 20,000
oogols N7 30,000, 000& 30,000
S HE KNI (H&) 195,000 190,000 5,000
< 75,000
Al 120,000
307 glz2tol & 195,000 190,000 5,000
< 75,000
Al 120,000
05 RIZtIE = 195,000 190,000 5,000
OO0 0l A2 BTLAIE (X&)  195,000,000& 195,000
< 75,000
Al 120,000
SABHEMY 6,000 4,000 2,000
< 2,000
Al 4,000
201 Let24d] 4,000 0 4,000
< 2,000
Al 2,000
01 At 22l 4,000 0 4,000
O=AEBEAMI 4,000,000& 4,000
= 2,000
Al 2,000
301 LEEAZ 2,000 0 2,000
12 JIEHE4 3 2,000 0 2,000
OFxsT=z )& 2AtE 2,000,000& 2,000
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o0z oz

H0 RJ Jo

M. o (BH) - HSAY - BAS il HDS2
SEAZ AHE ,238,000 2,208,000
s 895,000
Al ,343,000
401 Al Bl 2 0HHI ,238,000 2,238,000
s 895,000
Al ,343,000
01 A& HI ,238,000 2,238,000
S22 A2 2,238,000,000& ,238,000
ax 895,000
Al ,343,000
ST A2 XIJ 68,695 0
403 XXM S 68,695 0
02 3J1&2Sdl 68,695 0
O0s33& M ) S F |
68,695,000& 68,695
S22 29 164,600 AN 400
301 et X Z 54,000 0
12 JIEtE2 &2 54,000 0
OS2 XNIA S A 54,000,000 54,000
307 QI2t01 ™ 75,600 AN 400
02 DI2HEAAIEE X 75,600 A 400
OS2 MNME TAHPLY 54,000,000& 54,000
OS2 N2 T2 )2 HH| 21,600,000& 21,600
402 QI2HXH 201 A 35,000 0
01 DI XIE2AIE E X (XM THE ) 35,000 0
OXSE A2 35,000,000& 35,000
s 29 212,860 A 21,604
SEgMI=E2 2 151,780 2,920
201 LEt2 Y| 58,980 480
01 AFR2t2l Yl 23,980 480
oget+2H| 18,700,000& 18,700
OZE MBS 2 SS9l
440,000& *12& 5,280
02 352494 35,000 0
OZEAMI S 2 35,000,000& 35,000
301 et X = 90,800 440
01 A2 & X %352 4,800 0
OMI= XN = 4,800,000 4,800
09 SHALAHIXI &= 2,000 0
OMItsE XA K& O Xt A X &
2,000,000 2,000
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SM: BAstEME
MY DS K@
ool =X 29 (B9 ®R)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
12243 84,000 83,560 440
OsA& T2 dAY 84,000,000& 84,000
405 TtabF S| 2,000 0 2,000
01 AL EFFH S 2,000 0 2,000
o=z 29 =85 ¢ 2,000,000& 2,000
N2AMaEX2 29 61,080 85,604 N 24,524
201 et 28,920 28,200 720
01 At 22l 15,920 15,200 720
O L Et==EH| 8,000,000& 8,000
OMEAS SR &2 2ot MI|, 5240 22l
660,000& »12& 7,920
02 =224l 13,000 13,000 0
OMEAZ SIS 2Y 13,000, 000& 13,000
301 LeEBAF 32,160 32,160 0
12JIE243 32,160 32,160 0
OMEAE SR & T2 08 2AsE
32,160,000 32,160
HY LA (HMESHE) 119,900 137,473 A 17,573
el 2l 56,540 80,833 A 24,293
ol 2AH| 56,540 80,833 A 24,293
101 124 dl 56,540 80,833 A24,293
01 2= 53,057 76,282 N 23,225
oxzuz=2¢ 53,057
S= 11,6343 «5H «30A| 2t 128 20,942
o7= 10,509& »4H »30A| 2t 12& 15,133
=8z 9,434 x5 «30Al 2tx 128 16,982
02 JIEtE B == 3,483 4,551 A1,068
OBAFE zN224Y
6752 *30AI 2t x1H x12& 3,483
Jl=& | 63,360 56,640 6,720
Jl=dl 63,360 56,640 6,720
201 Let24d] 6,000 6,000 0
01 At 22/l 6,000 6,000 0
©F=R<IEer=:] 4,000,000& 4,000
O= &l 2,000,000& 2,000
202 44l 53,760 47,040 6,720
01 =L o4 1l 53,760 47,040 6,720
O2UHEZ NI 280,000& 16K «12& 53,760
203 YR =&l 3,600 3,600 0
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